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QUESTION 1

In Frame Relay, the Discard Eligible bit works in conjunction with which of these mechanisms as part of congestion
control? 

A. type of service (TOS) settings 

B. class of service (COS) settings 

C. Frame Relay traffic shaping (FRTS) settings 

D. forward explicit congestion notification (FECN) settings 

E. differentiated services code point (DSCP) Settings 

Correct Answer: D 

 

QUESTION 2

Two directly connected routers, R1 and R2, are both configured for OSPF graceful restart. R2 is able to switch packets
in hardware, but R1 is not. If a network administrator logs on to R2 and performs a system reload, which will be the
result? 

A. Traffic forwarded from R2 to or through R1 will continue to be forwarded based on the forwarding table state at the
time of the reload. 

B. R2 will continue to forward traffic to R1, but R1 will drop the traffic because its neighbor adjacency with R2 has
failed. 

C. R2 will continue forwarding traffic to and through R1, but R1 will drop this traffic because it is not capable of
maintaining its forwarding state. 

D. All the traffic R2 is forwarding to or through R1 will be dropped while OSPF rebuilds its neighbor adjacency and
forwarding tables. 

Correct Answer: A 

 

QUESTION 3

Which statement is true about TCN propagation in RSTP (802.1w)? 

A. The originator of the TCN immediately floods this information through the network. 

B. The TCN propagation is a two step process. 

C. A TCN is generated and sent to the root bridge. 

D. The root bridge must flood this information throughout the network. 

Correct Answer: A 

Latest 350-001 Dumps | 350-001 Study Guide | 350-001 Exam Questions                                2 / 5

https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html


https://www.pass4itsure.com/350-001.html
2022 Latest pass4itsure 350-001 PDF and VCE dumps Download

 

QUESTION 4

You are the network administrator of a medium-sized company, and users are complaining that they cannot send emails
to some organizations. During your troubleshooting, you notice that your DNS MX record is blacklisted by several public
blacklist filters. After clearing these listings for your IP address, and assuming that your email server has the right virus
protection in place, what are two possible solutions to prevent this from happening in the future? (Choose two.) 

A. Change your Internet provider. 

B. Change your public IP address. 

C. Allow the email server to send traffic only to TCP port 25. 

D. Put your email server in a DMZ. 

E. Use a separate public IP address for your email server only. 

Correct Answer: CE 

 

QUESTION 5

Which description of the following is true according to the information shown in the figure? 

A. RTC will not have the 192.168.10.0 network in its routing table. 

B. RTC will not have the 10.0.0.0 network in its routing table. 

C. RTB will not have the 10.0.0.0 network in its routing table. 
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D. RTB and RTC will not have the 10.0.0.0 network in their routing tables. 

Correct Answer: B 

Latest 350-001 Dumps 350-001 Study Guide 350-001 Exam Questions

Latest 350-001 Dumps | 350-001 Study Guide | 350-001 Exam Questions                                4 / 5

https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html


https://www.pass4itsure.com/350-001.html
2022 Latest pass4itsure 350-001 PDF and VCE dumps Download

To Read the Whole Q&As, please purchase the Complete Version from Our website.

Try our product !

100% Guaranteed Success
100% Money Back Guarantee
365 Days Free Update
Instant Download After Purchase
24x7 Customer Support
Average 99.9% Success Rate
More than 800,000 Satisfied Customers Worldwide
Multi-Platform capabilities - Windows, Mac, Android, iPhone, iPod, iPad, Kindle

We provide exam PDF and VCE of Cisco, Microsoft, IBM, CompTIA, Oracle and other IT Certifications.
You can view Vendor list of All Certification Exams offered:

https://www.pass4itsure.com/allproducts

Need Help
Please provide as much detail as possible so we can best assist you.
To update a previously submitted ticket:

Any charges made through this site will appear as Global Simulators Limited.
All trademarks are the property of their respective owners.

Copyright © pass4itsure, All Rights Reserved.

Powered by TCPDF (www.tcpdf.org)

Latest 350-001 Dumps | 350-001 Study Guide | 350-001 Exam Questions                                5 / 5

https://secure.livechatinc.com/licence/8041871/v2/open_chat.cgi
http://www.tcpdf.org
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html
https://www.pass4itsure.com/350-001.html

